1§ 1¢

—

— —\ k,

c

AR = AP +

PQ ‘Lt

12

|4

(£

| e

i._)

4+6k

54

A

2

31 2k

-

y- - 3"‘(!01‘3)

{0




— - —
p

()  Ab=-BA+DBD i +

ﬂ»
= - + Bb
Bl=131 c0. w13

N—— omed

I8 )= 2 a5 + 1 )= [5c = 285 + [B1?

4-28-8b=9F-28-8

(© a:pc=2:3 THFaa [al=2,/1a]=3 Cersa. )

— — — — S~
Bc- B — BA-Bp = T
b Sl = H l
33, BD: khBM = %k bAtThpe = 3AFAt2A B B4F
_-a 3‘

;'(37(32-*215_’2) - (3X pA+2%Bc ) =

— — —-— — ]
BA- 8¢ =8¢-pa = Iga 5| cabo = 3 AT,

9 + 18X — |27 - 6% = 352
_r .=
2= =75

2
Bb= 3 ph+ 22 FC = 'Z‘M'*TEZ ,
2) (D<RFEr=. IBgl=la]le =]
© K-B-BB:L
_—
_ 3= — —
p=3 8 = _)_i[kscf(l—k)uj; _g((‘k)t;q‘-ffka_‘c,
2p=x wwce. (k)= 2 Lo 3 —
2 -2 =z -X - Bb= (I-X)FA*XPC
(OcfFr L & Fude, z:—;‘—
J 4. L2
> A= /¥
- .L3.--|1_ i._,
By = /chA 5 B p



I-r o
. ql=r? =
.5\7- Q-;—F .S}a-al’r_
By S S
Se = Fr¥ T 47 9
4 ("Xz_ _ B -i T 2 2
Ff= Xt LR MR S A Y
- o+ 2z _ 4+ 16
r= ,E - >
s
ot SV Fo X vex,
AYS (—r* 2
° X3 U=x)(1xtX?) 37
?‘{-'- er y_ﬁ;XB . = xxi 2L
(X (+X)U=X) e 2
2((HX+X>) = 3T (X)) & 2]X'—|bXx —]6=0
S GX-P(Tx+@)=0 & x=Ff - &
5}° 1'_)(2 2] 2
. = X = —/ = =1
Sk (X S 5 (+X
2/ 2/ 2!
X=3 st =g - o,
- -3 _ 2] 2/ 5
)‘ 7@95', 5}- — = :?/’(7=§‘7//

<
VJw



